
26th November                                                     26th November                                                     

Write 394 in words.
Write twelve thousand and 
fourteen in figures.

Plot the coordinate A (4, 3)

Plot the coordinate B (1, 7)

C is the midpoint of AB.

Write down the coordinates of C.

Write 50:400 as a ratio in its 
simplest form

The probability that a train is late is 
0.3

What is the probability that the train is not 
late?

Name: ______________                                    5-a-day                                               Numeracy
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